



Original Article

Effects of Fasting on Progression of Chronic Kidney Disease

Ahreema Siddiqui, Abdul Rehman Arshad, Abdul Rehman Azeem, Usama Zahid, Maira Aleem

*Pak-Emirates Military Hospital, Rawalpindi***Abstract**

Objective: This study aimed at examining the effects of fasting on rate of decline in renal function amongst patients with chronic kidney disease.

Methods: This observational study included patients with chronic kidney disease, having eGFR <60 ml/min/1.73m², who had remained under regular outdoor follow up from Jan to Jun 2023. Patients with hospitalization for more than 3 days during this period, on maintenance hemodialysis, or unwilling patients were excluded. Serum creatinine levels in January and June 2023 were noted down. Patients were also asked if they had fasted during Ramdan, and for how many days. Those who fasted for at least 3 consecutive days or 7 days in total were included in the fasting group. All others were included in non-fasting group.

Results: There were 83 patients, predominantly males (71; 85.54%). Median serum creatinine levels were 200 (135- 302) and 220 (153- 429) umol/L at the start and end of study period, corresponding to eGFR of 24.23 (15.55, 38.13) and 19.98 (10.76, 33.72) ml/min/1.73m² respectively, with a median decline of 2.18 (-1.03, 7.75) ml/min/1.73m². Mean duration of fasting amongst the 25 (30.12%) patients who fasted was 25.88±6.05 days. The median decline in eGFR amongst patients who fasted and those who did not was 5.08 (-0.59, 9.34) and 2.10 (-1.24, 7.50). This difference was insignificant (p=0.648).

Conclusion: Fasting did not affect the rate of decline in renal function amongst our patients.

Keywords: Chronic kidney failure, Chronic kidney insufficiency, Fasting, Hemodialysis

How to cite this:

Siddiqui A, Arshad AR, Azeem AR, Zahid U, Aleem M. Effects of Fasting on Progression of Chronic Kidney Disease. J Pak Soc Intern Med. 2025;6(2): 141-145

Corresponding Author: Dr. Abdul Rehman Azeem

Email: darazeem7@gmail.com

Received: 06-01-2025

Revised: 22-02-2025

Accepted: 28-04-2025

DOI: <https://doi.org/10.70302/jpsim.v6i2.2527>

This is an open access article under the CC BY4.0 license. <https://creativecommons.org/licenses/by/4.0/>

Introduction

Chronic Kidney Disease (CKD) stands as a prevalent and debilitating health condition affecting millions globally.¹ Its pervasive nature presents a substantial public health concern, marked by an escalating incidence that places a significant burden on healthcare systems and the overall well-being of those afflicted. The journey of patients grappling with CKD is characterized by the gradual decline of kidney function, culminating in the compromised filtration and elimination of waste products, notably creatinine. This compound, originating from muscle tissue metabolism, serves as a pivotal indicator of renal function.² The meticulous monitoring of creatinine levels holds paramount importance in comprehending the trajectory of CKD progression,

shaping treatment strategies, and forecasting patient prognoses.

In recent times, the scrutiny surrounding the influence of dietary patterns, particularly fasting, on creatinine levels in individuals grappling with CKD, has emerged as a focal point for both researchers and healthcare practitioners. The interplay between dietary practices and the intricate mechanisms governing kidney function has sparked profound interest and inquiry. Understanding how dietary modifications, specifically fasting, impact creatinine levels within the context of CKD has become a subject of intense investigation, underpinning a quest to enhance management strategies and refine patient care.³

Amidst the multifaceted landscape of CKD management, the role of dietary interventions in modulating creatinine levels has engendered a wave of research endeavors. Fasting, as a dietary regimen, encompasses diverse forms, ranging from intermittent fasting schedules to prolonged fasting durations, each potentially exerting varying effects on the body's metabolic processes and renal functions. The intricate dance between fasting and creatinine levels within the intricate framework of CKD remains an area of profound interest, poised at the crossroads of medical science and dietary practice.⁴

Emerging studies delve into the nuanced relationship between fasting and creatinine dynamics in CKD. These investigations aim to decipher the mechanisms through which fasting influences creatinine production, elimination, and overall renal function. They strive to discern whether fasting acts as a catalyst in altering creatinine levels, potentially affecting the trajectory of CKD progression. Moreover, researchers endeavor to unveil the temporal aspects of fasting, seeking to delineate optimal fasting durations and patterns that might offer therapeutic benefits without exacerbating renal impairment.⁵

A myriad of hypotheses burgeons from these inquiries, proposing various mechanisms by which fasting might intersect with creatinine regulation in CKD. Some postulate that fasting-induced alterations in metabolic pathways could transiently impact creatinine synthesis, thereby causing fluctuations in its serum levels. Others explore the potential role of fasting-induced autophagy, a cellular process that clears damaged components, in mitigating renal damage and influencing creatinine kinetics. These conjectures pave the way for meticulous experimentation, employing clinical trials and mechanistic studies to elucidate the intricate interplay between fasting and creatinine dynamics in CKD.⁶

The clinical implications stemming from the nexus of fasting and creatinine levels in CKD patients hold profound significance. A deeper comprehension of how dietary practices, including fasting, influence creatinine dynamics can potentially revolutionize the management paradigms for individuals navigating the complexities of CKD. It may pave the way for tailored dietary recommendations, personalized fasting regimens, and nuanced therapeutic approaches aimed at optimizing renal function, curbing disease progression, and augmenting patient outcomes.

Nonetheless, amidst the burgeoning interest and potential implications, a note of caution resonates within the scientific discourse. The exploration of fasting in the context of CKD necessitates meticulous consideration of individual patient characteristics, disease stages, and concurrent treatment modalities. The intricate balance between the potential benefits and risks associated with fasting interventions in CKD mandates a prudent approach, emphasizing the need for rigorous clinical scrutiny, tailored guidance, and vigilant monitoring.⁷

In essence, the landscape of CKD management stands amidst a transformative phase, where the intricate relationship between dietary practices, such as fasting, and creatinine dynamics unfolds as a compelling avenue of exploration. The convergence of medical science, dietary intervention, and patient-centered care beckons a comprehensive understanding of how fasting influences creatinine levels in the realm of CKD, holding promise for refined therapeutic strategies and enhanced patient well-being. As research endeavors persist and knowledge evolves, the quest to unravel the mysteries entwining fasting and creatinine in CKD continues, illuminating pathways toward optimized care and improved outcomes for those grappling with this challenging medical condition.

Fasting, defined as the voluntary abstinence from food and drink for a specified duration, has been practiced for centuries for various reasons, including religious, cultural, and therapeutic purposes. It can take several forms, ranging from intermittent fasting, where individuals alternate between periods of eating and fasting, to extended fasts lasting several days or even weeks. In recent years, fasting has gained popularity as a potential intervention to improve health and well-being, with claims of benefits such as weight loss, improved metabolic health, and potential effects on kidney function.^{8,9} Given that CKD patients are at a heightened risk of metabolic and nutritional disturbances, exploring the effects of fasting on creatinine levels in this population is of great interest.¹⁰

This research article aims to provide a comprehensive overview of the effects of fasting on creatinine levels in patients with Chronic Kidney Disease. We will examine the underlying mechanisms, potential benefits, and risks of fasting in this patient group, while also considering the implications for clinical practice. As CKD continues to be a significant global health concern, understanding the influence of fasting on creatinine levels and kidney function is crucial for optimizing the care and outcomes of these patients.

Methods

This cross-sectional study was carried out at Department of Nephrology, Pak Emirates Military Hospital Rawalpindi between January and July 2023. The Ethics Review Committee of the hospital approved the research protocol beforehand vide letter number A/28/2023. We calculated a sample size requirement for 83 patients. We selected patients with chronic kidney disease stage 3– and above (glomerular filtration rate [GFR] <60 ml/min), as estimated using the Chronic Kidney Disease Epidemiology Collaboration (CKD-EPI) formula who fasted during Ramadan. These patients were on regular follow up in outdoor nephrology clinic before and after the month of Ramadan. In Pakistan, Ramadan came in the month of March-April with a fasting time of 15 hours. All patients were enrolled with their consent. Exclusion criteria included patients on dialysis, patients with transplant kidneys, poor glycemic control (HbA1c>9%), uncontrolled blood pressure (systolic BP>160mmHg and diastolic BP>100mmHg and unwillingness.

We collected data of study participants including their gender, age, number of days fasted, cause of chronic kidney disease and creatinine levels in the months of January/February (before Ramadan) and May, June and July(after Ramadan).

Data was analyzed in Statistical Package for Social Sciences(SPSS) version 20. The Kolmogorov-Smirnov test was used to determine the normal distribution. The categorical variables were compared based on the groups using the chi-square test. Two paired-sample t-test was employed for normally distributed data and the Wilcoxon test for non-normally distributed data to examine changes over time. Proportions of patients who fasted during the month of Ramadan and those who did not fast, were compared using Fisher's Exact test.

Results

This study involved 83 patients with a mean age of 57.45 ± 15.12 years. These were predominantly males (71; 85.54%). Median serum creatinine were 200.00 (135- 302) $\mu\text{mol/L}$ and 220 (153- 429) $\mu\text{mol/L}$ at the start and end of study period. Median eGFR was 24.23 (15.55, 38.13) ml/min and 19.98 (10.76, 33.72) ml/min at the start and end of study period respectively, with a median decline of 2.18 (-1.03, 7.75) ml/min. Mean duration of fasting amongst the 25 (30.12%) patients who fasted was 25.88 ± 6.05 days. The median decline in eGFR amongst patients who fasted and those who did not was and 5.08 (-0.59, 9.34) and 2.10 (-1.24, 7.50). There was no difference between the two groups ($p=0.648$).

Table 1: Fall in Creatinine Levels and eGFR over time

Parameter	Start of Study mean (IQ)	End of Study mean (IQ)
Median serum creatinine ($\mu\text{mol/L}$)	200.00 (135- 302)	220 (153- 429)
Median eGFR	24.23 (15.55, 38.13) ml/min	19.98 (10.76, 33.72) ml/min

Table 2: Median decline in eGFR

Patient Category	Median decline in eGFR
Fasting Patients	5.08 (-0.59, 9.34)
Non-fasting patients	2.10 (-1.24, 7.50).

Discussion

Shahzaib et. al, conducted a literature review of fasting in patients with CKD and suggested that all patients with CKD should be deemed high risk or very high risk for fasting. They concluded that patients with stable mild/moderate CKD (stage 1–3) may be able to fast provided they are carefully monitored and counselled. They also suggested that patients with stable renal transplants may also be able to fast, provided they are monitored carefully by their transplant team. They further suggested that patients on haemodialysis or peritoneal dialysis should not be encouraged to fast, but if they do so, they will need careful weekly monitoring.¹¹ Similar findings were suggested by our study in which there was no significant difference in renal functions among fasting and non fasting patients. Aisha et al in a study done in London on CKD patients with diabetes, did not find any significant difference among fasting and non-fasting patients in terms of their pre- and post-Ramadan weight, blood pressure, creatinine levels, glycated haemoglobin, cholesterol, and urine protein creatinine ratios.¹² These findings are in coherence in findings of our study.

Mohamed et al, observed significant rise in creatinine levels in 60% of fasting patients as compared to non-fasting patients within first six days of Ramadan in patients taking aldosterone receptor antagonists.¹³ These findings are not in coherence with findings of our study in which no significant rise of creatinine levels was observed among fasting patients with CKD. Al Wakeel et al studied effects of fasting on chronic kidney disease patients with and without hemodialysis.¹⁴ They found increased rate of biochemical changes in patients on hemodialysis as compared to patients not yet on hemodialysis. Bernieh et al demonstrated better tolerance and safety of fasting in CKD patients, with a better lipid profile, serum sodium and reduction of proteinuria, incongruous to the findings of our study.¹⁵ Ahmet et al

in their study concluded that fasting was associated substantial decrease in creatinine levels. They also advised fasting in CKD3-4 patients.¹⁶ These findings in contradiction to findings in our study where no significant difference was found among creatinine levels in fasting and non-fasting patients.

Bakhit et al in a study done in Riyadh, Saudia Arabia concluded that fasting was associated with an increase of 0.3 mg/dL (26.5 μ mol/l) in CKD patients over a period of months after fasting. They attributed higher systolic blood pressure and younger age to be independent variables of worsening renal function in CKD patients.¹⁷ These findings were not in accordance with findings of our study in which no worsening of renal function was found among fasting and non-fasting patients with CKD.

Malik et al in their literature review on effects of fasting in CKD patients gave some recommendations. The International Federation for Diabetes and the Diabetes and Ramadan International Alliance have defined risk levels, namely extremely high risk, high risk, and low-moderate risk, upon which recommendations have been built. Individuals who fall into the low- to moderate-risk category may be able to safely fast with their clinician's assistance, but patients in the very high risk and high risk categories should be encouraged to consider other choices. Before Ramadan begins, all patients must be informed about the most recent sick-day policies and guidelines, including when to break their fast or not.¹⁸

Ansari et al concluded that stable CKD patients can safely fast, showing that 16% of their patients developed worsened renal function. These findings are not in agreement with findings of our study in which no significant worsening of renal functions was observed in fasting patients with CKD.¹⁹ Elmukhtar et al in their review proposed that CKD patients in hot regions with long fasting hours might expose themselves to danger secondary to dehydration.²⁰ Tarabeih et al found favorable outcomes of hydration overnight in fasting patients with CKD as compared to patients who did not hydrate overnight.²¹

Dogan et al in their study, found no statistically significant difference in creatinine levels compared to pre-Ramadan levels the first week following Ramadan among fasting and non-fasting patient. The parameters indicating declining renal function—a 25% decrease in GFR and a 30% rise in serum creatinine levels—were used to compare the groups. Based on these two criteria, there were no statistically significant differences between the two groups. Diabetes mellitus and proteinuria were determined to be independent risk factors for renal impairment.²²

These findings are in coherence with findings of our study in which no statistical difference in creatinine levels was found between fasting and non-fasting groups.

In a sytematic review done by Bragazzi et al, no recommendations were found in the literature on this subject to help doctors counsel patients about the potential effects of Ramadan fasting on kidney function.²³

Conclusion

The potential risks and considerations underline the importance of medical supervision and tailored fasting strategies for CKD patients, ensuring that the benefits outweigh the risks and that any adverse effects are minimized.

Limitations: As it was a single center study with less number of patients. So, larger multi center studies are recommended for generalization of data.

Ethical Approval: The IRB/EC approved this study via letter no A/28/2023 dated January 15, 2023.

Conflict of Interest: *None*

Funding Source: *None*

Authors' Contribution

AS,ARA: Conception

ARA: Design of the work

UZ,MA: Data acquisition, analysis, or interpretation

ARA, UZ, MA: Draft the work

AS, ARA: Review critically for important intellectual content

All authors approve the version to be published

All authors agree to be accountable for all aspects of the work

References

1. Kovesdy CP. Epidemiology of chronic kidney disease: an update 2022. *Kidney Int Suppl.* 2022;12(1):7–11.
2. Levey AS, Grams ME, Inker LA. Uses of GFR and Albuminuria Level in Acute and Chronic Kidney Disease. *New Eng J Med.* 2022;386(22):2120–8.
3. Bhandari S, Mehta S, Khwaja A, Cleland JGF, Ives N, Brettell E, et al. Renin–Angiotensin System Inhibition in Advanced Chronic Kidney Disease. *New Eng J Med.* 2022;387(22):2021–32.

4. Srivastava S, Kumar Yadav R, Narayan V, Mall PK. An Ensemble Learning Approach For Chronic Kidney Disease Classification. *J Pharm Negat Results*. 2022;13(10):2401–9.
5. Wan Md Adnan WAH, Zaharan NL, Wong MH, Lim SK. The effects of intermittent fasting during the month of Ramadan in chronic haemodialysis patients in a tropical climate country. *PLoS One*. 2014;https://doi.org/10.1371/JOURNAL.PONE.0114262.
6. Kara E, Sahin OZ, Kizilkaya B, Ozturk B, Pusuroglu G, Yildirim S, et al. Fasting in Ramadan is not associated with deterioration of chronic kidney disease: A prospective observational study. *Saudi J Kidney Dis Transpl*. 2017;28(1):68–75.
7. Fokkert MJ, Van Dijk PR, Edens MA, Abbes S, De Jong D, Slingerland RJ, et al. Performance of the freestyle libre flash glucose monitoring system in patients with type 1 and 2 diabetes mellitus. *BMJ Open Diabetes Res Care*. 2017; https://doi.org/10.1136/BMJDR-2016-000320.
8. The use of Free Style Libre Continues Glucose Monitoring (FSL-CGM) to monitor the impact of Ramadan fasting on glycemic changes and kidney function in high-risk patients with diabetes and chronic kidney disease stage 3 under optimal diabetes care - ScienceDirect. [Updated 2023, accessed November 7, 2024]. Available from; https://www.sciencedirect.com/science/article/abs/pii/S016882271831684X.
9. Bailey T, Bode BW, Christiansen MP, Klaff LJ, Alva S. The Performance and Usability of a Factory-Calibrated Flash Glucose Monitoring System. *Diabetes Technol Ther* 2015;17(11):787–94.
10. Mbarki H, Tazi N, Najdi A, Tachfouti N, Arrayhani M, Sqalli T. Effects of fasting during Ramadan on renal function of patients with chronic kidney disease. *Saudi J Kidney Dis Transpl*. 2015;26(3):320–4.
11. Ahmad S, Chowdhury TA. Fasting during Ramadan in people with chronic kidney disease: a review of the literature. *Therap Adv Endocrinol Metabol*. 2019; https://doi.org/10.1177/2042018819889019.
12. Chowdhury A, Khan H, Lasker SS, Chowdhury TA. Fasting outcomes in people with diabetes and chronic kidney disease in East London during Ramadan 2018: The East London diabetes in Ramadan survey. *Diabetes Res Clin Pract*. 2019;152(1):166–70.
13. Nasrallah MM, Osman NA. Fasting during the month of Ramadan among patients with chronic kidney disease: Renal and cardiovascular outcomes. *Clin Kidney J*. 2014;7(4):348–53. https://doi.org/10.1093/CKJ/SFU046.
14. Al Wakeel J, Mitwalli AH, Alsuwaida A, Al Ghonaim M, Usama S, Hayat A, et al. Recommendations for fasting in ramadan for patients on peritoneal dialysis. *Peritoneal Dialysis International* 2013;33(1):86–91.
15. Sarwar N, Gao P, Kondapally Seshasai SR, Gobin R, Kaptoge S, Di Angelantonio E, et al. Diabetes mellitus, fasting blood glucose concentration, and risk of vascular disease: A collaborative meta-analysis of 102 prospective studies. *Lancet*. 2010;375(9733):2215–22.
16. Karatas A, Canakci E, Arici YK, Kaya M, Sayim B. The The effect of Fasting during Ramadan on the Kidney functions of Stage III-IV Chronic Kidney Disease Patients. *Pak J Med Sci*. 2021;37(4):972–8.
17. Bakhit AA, Kurdi AM, Wadera JJ, Alsuwaida AO. Effects of ramadan fasting on moderate to severe chronic kidney disease: A prospective observational study. *Saudi Med J* 2017;38(1):48–52.
18. Malik S, Bhanji A, Abuleiss H, Hamer R, Shah SH, Rashad R, et al. Effects of fasting on patients with chronic kidney disease during Ramadan and practical guidance for healthcare professionals. *Clin Kidney J*. 2021;14(6):1524–34.
19. Ansari F, Latief M, Manuel S, Shashikiran K, Dwivedi R, Prasad D, et al. Impact of fasting during ramadan on renal functions in patients with chronic kidney disease. *Indian J Nephrol*. 2022;32(3):262–5.
20. Habas E Sr, Errayes M, Habas E, Farfar KL, Alfitori G, Habas AE, Rayani A, Elzouki AY. Fasting Ramadan in Chronic Kidney Disease (CKD), Kidney Transplant and Dialysis Patients: Review and Update. *Cureus*. 2022 May 24;14(5):e25269.
21. Tarabeih M, Qaddumi J, Hamdan Z, Hassan M, Jebrin K, Khazneh E, et al. Increasing Overnight Fluid Intake and Kidney Function During Ramadan Fasting: A Randomized Controlled Trial ARTICLE IN PRESS. *Transplant Proc*. 2022; https://doi.org/10.1016/j.transproceed.2022.10.059.
22. Dogan I, Eser B, Kayadibi H. The effect of Ramadan fasting on renal functions in patients with chronic kidney disease. *Turk J Biochem*. 2019;44(2):189–96.
23. Bragazzi NL. Ramadan fasting and chronic kidney disease: A systematic review. *J Res Med Sci*. 2014;19(7):665.